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Part Il: Identify the atoms by examining their arrangement of electrons.

Orbital Diagram or Electron Configuration tlzf::;-zt:: " ;2:;’:::6 Elenicnt
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‘ Part lll: Matching!

| 11 T
‘ A. @[;] _& 1. This orbital notation shows an element with
' nine total electrons.
i
B. O 2. This orbital notation shows an element with
2p three valence electrons.
C. E] D 3. This orbital notation shows an element with
15 25 ——vgz five total electrons.
p
¥ 4. This orbital notation shows an element with
M . ——
D. LlJ ' _]Dl ] the Lewis dot structure shown below.
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Part IV: Multiple Choice

1. When the electron in an atom of hydrogen transitions from n = 3 to n = 1, which of the following are true?

I.  Energy is emitted. —4—
II. Energy is absorbed. =
II1I. The electron is now in its ground state. A
a. lonly b. Ilonly {a\ I and 11l only d. 1land Ill only

2. What is the correct noble gas notation for the cation found within the compound AlBr,? = ~ '

a. [Nej3s’3p! c. [Ar]as’ap®
@ [He]2s%2p" d. [Ar]3s”3p!




15
Which of the following species has exactly two unpaired electrons in the ground state?

a. Mg Ti* c. Cr d. zn*
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The ground state configuration of the Cr®* ion is characterized by which of the following statements?
X I. Isoelectronic with a noble gas. 1 11
/ II.  An empty 4s orbital. e BT ars G
VI Partially filled 3d orbitals. S 3d
J/ IV. The presence of unpaired electrons.
a. llonly b. 1land lll only c. llandIVonly il, Il and IV only

What is the correct electron configuration for the negatively charged anion found within the compound magnesium
oxide? M(ﬂ 0 > O %~
a. 1s%2s%2p? c. 1s%2522pf3s?
1s22522p5 d. 1s22s?2p53s?3p*

Which of;he following, in their ground state, has exactly four unpaired electrons? __ :
1 Fer1111 nfcraad. )¢ c:»"L 11 W rer
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34 3d B
a. lonly b. Mlonly c. llandIVonly Iandllonly
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Many of the unique properties of tin are due to the electron arrangement within the atom. What is the ground state
electron configuration of tin?

a. [Kr] 5s%5p? c. [Kr] 5s25d05p?
[Kr] 5524d105p2 d. [Kr] 5524d104f145p2

Which of the following species has exactly three unpaired electrons in the ground state?

24 3- R (4 ui+
a. Fe b. P ¢. Al e.) v

All of the following pairs are isoelectronic EXCEPT:

a. Cl and§* c. ArandK'
@ Rb* and Xe d. Na*andN*




